Moto-All.ru

CIIMCOK JOETAJIEU [JI4 "STEERING STEERING ASM. -
R15RUAGS7AA ES7AC" POLARIS R15RUAS7AA E57AC RGR 570 EFT FULL

SIZE CREW

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

EPS

© 2014 Polaris Sales Inc. EPAS 4
@




CITMCOK OETAJIEY N1J1d "STEERING STEERING ASM. -
RI15RUA57AA ES7AC" POLARIS R15RUA57AA ES57AC RGR 570 EFI FULL

SIZE CREW

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 5411920 Cpok mocTaBku oT 19 nHei BOOT-SEAL,ROD END,10MM

2 7061054 Cpok mocTaBku oT 21 mHs ROD-END,10MM, 1/2-20LH,42 DEG
3 7547028 CpoK mocTaBku OT 19 mHen NUT

5 7080978 CpOK IIOCTaBKH OT 27 JHEH CLAMP-BOOT

6 5412013 CpoK 1ocTaBku OT 19 mHen BOOT-PASSENGER

7 7080979 CpoK 1ocTaBku OT 19 mHeR CLAMP-BOOT

8 7518935 CpOK IIOCTaBKH OT 27 [HEH BOLT-M8X1.25X95 HX BOLT

9 7519052 CpOK TIOCTaBKY OT 27 IHEN SCREW-HXFL M8X1.25X35 ZOD
10 7518558 Cpok nocTaBku 0T 19 nHew BOLT-M10X1.25X20

11 7518555 CpOK TIOCTaBKY 0T 27 IHEN BOLT-M8X1.25X20

12 3514686 CpOK TIOCTaBKY 0T 27 fIHEHN BEARING-STEERING

13 7547333 CpOK IIOCTaBKH 0T 27 gHel NUT-M10X1.25

14 1823622 CpOK IIOCTaBKH 0T 27 gHel WHEEL-STEERING

15 7547506 Cpoxk nocTaBku oT 19 gHelt NUT-HEX-M16X2

16 5438865 CpOK TIOCTaBKY 0T 27 fHEeHN CAP-STEERING WHEEL

17 7518702 Cpoxk nocTaBku oT 19 gHeit BOLT-M8X1.25X20

18 7556675 Cpoxk nocTaBku oT 19 gHelt BUSHING-STEERING

19 7518644 CpoK mocTaBk# OT 19 gHen SCR-M10X1.50X35 HX/FL

20 1823844 CpOK IIOCTaBKH OT 27 JHEH SHAFT-STEERING,UPPER/LOWER
21 7547385 CpOK IIOCTaBKH OT 27 JHEH NUT-NY INS

22 7547332 Cpok mocTaBk# oT 19 nHei NUT-M8X1.25

23 5412012 CpOK IoCTaBKH# 0T 27 fHeR BOOT-DRIVER SIDE

24 7517909 CpoK IoCTaBKH 0T 27 fHeR BOLT-M10X1.25X65

25 7518665 CpoK mocTaBKH 0T 27 fHeR BOLT-M10X1.25X130

26 2412704 Cpok nocTaBku oT 19 nHel ?[Zl\;lsl]’())WER STEERING,RANGER
27 7661203 CpoOK TIOCTaBKY 0T 27 fHEHN PIN

28 1823902 CpoK 1IoCTaBKu 0T 27 gHel ASM-GEAR BOX

29 1824317-458 Cpox mocTasKu ot 19 fHedi (NGL o) ERING RVID MIOBLK
30 7546703 CpoK 1ocTaBku OT 19 gHen NUT

31 1823891 CpoK IoCcTaBKH 0T 27 [Hen SHAFT-STEERING

32 1823667 Cpok IoCcTaBKH# 0T 27 [Hen SHAFT-STEERING LWR,W/JNT,EPAS
33 1018384-329 CpoK IoCcTaBKH OT 27 [Hel WELD-EPAS

34 7044098 CpOK IIOCTaBKU OT 27 [HEH ASM-SHOCK,OIL LOCKING,MACH
35 7519980 CpOK IIOCTaBKU OT 27 [HEU BOLT-SHOULDER,M8-15,M6X1.0-BLK
36 5439154 CpOK IIOCTaBK# OT 27 JHEH BUSHING-TILT STEERING




